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Ctyawmo Ne 20 Ctyawmo Ne 22 Cryavo Ne 23 Ctyawmo Ne 24 Ctyauo Ne 25 Ctyawmo Ne 27
45,22 w? 45,30 m? 45,56 m? 45,56 m? 45,30 m? 43,64 m?

[HeBHa c [HeBHa ¢ [HeBHa ¢ [HeBHa ¢
KyXH. 6oKC KyXH. 6oKC KyXH. 6oKC KyXH. 6okc

AnapTtameHT N2 20 AnapTtameHT N2 18 AnaprtameHT N2 17 AnapramenT N2 15
71,21 m? 83,11 m? 83,11 m? 70,88 m?

ETax AnapTameHT Mnowy
YeTtBbpTY XUULLEH eTax| AnaptameHT Ne 15 | 70,88 m
YeTBbpTY XunULeH eTax| Anaprament No 16 [ 71,77 m?
YeTBbpTY XMNNLLEH eTax| AnaptameHT Ne 17 83,11 m?
YeTBBPTY XMNMLLEH eTax| AnaptameHT No 18 | 83,11 m?
YeTBbpTY )unuLieH etax| Anaprament Ne 19 [ 71,77 m?
YeTBbpTY XMnMLLeH eTaxx| Anaptament No 20 [ 71,21 m?

YeT1BbpTY XMULLEH eTax| Ctyawo Ne 20 45,22 m?
YeTtBbpTY XMNULLEH eTax| Cryamo Ne 21 45,30 m?
YeTtBbpTY XMNULLEH eTax| Cryano Ne 22 45,30 m?
YetBbpTY XMNMLWEH eTax| Ctyamo Ne 23 45,56 m?
YetBbpTy XMnMeH etax| Crtyamo Ne 24 45,56 m?
YeTtBbpTY XMNULLEH eTax| Ctyauo Ne 25 45,30 m?
YetBbpTY XMNMLLEH eTax| Ctyamo Ne 26 45,30 m?

YeTBbpTY XMNMLWEH eTax| Crtyamo No 27 43,64 m?




